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Il 790,000
Al 197,500
02 SO 2SO et =& 2 EF A I 987,500 1,573,435 A\585,935
OFTARA 84D | BHEHI (28 X1 7) 987,500
Jl 790,000
Al 197,500
FTALb=ANY HI2SE & 2l 14,750 15,650 A900
Jl 14,750
307 @I2t0| & 14,750 15,650 A900
Jl 14,750
02 LB HANHEE 14,750 15,650 A900
OFTA b==AtY 2telH] 2,750
Jl 2,750
O20223 Dh==AHAIHEIF QIMIEIE (D=4 OF
HE & W=x) 12,000
7l 12,000
HEHsgsY 7,215,437 5,544,484 1,670,953
= 1,596,819




2A:

B =0 A Ust
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 612,722
Al 5,005,8%
detdsgasE 130,000 116,110 13,890
= 130,000
301 EtE NS 130,000 116,110 13,890
= 130,000
4Bt 23 130,000 116,110 13,890
Ozletd=sg MN=s AFAY 130,000
= 130,000
SIIZHIEXIJ (HEAL) 2,512,119 2,511,283 836
402 2IF X201 ™ 2,512,119 2,511,283 836
02 QI A2 AL E R (01X THE) 2,512,119 2,511,283 836
ORIIEHIZE KZAS (HE) 2,512,119
ELNSHXZ (LX) 827,918 803,261 24,657
= 546,428
= 140,745
Al 140,745
402 2I2F X201 & 827,918 803,261 24,657
= 546,428
< 140,745
Al 140,745
02 QI X2 AL EE(OIETHE) 827,918 803,261 24,657
OEME M XA 827,918
= 546,428
< 140,745
Al 140,745
A=K (XHA) 865,000 813,000 52,000
307 glztol & 30,000 23,000 7,000
02 2B YA E X 30,000 23,000 7,000
Ozlgzdd 2a= =048l XA (1,300
21%46,0002+0H+50%) 30,000
402 2I2FX=01 & 835,000 790,000 45,000
01 RIINGSASE X (XHMITHR) 835,000 790,000 45,000
OzletEsg SEAM KA
2,000, 000 *200hax50% 200,000
OzletBsatE dab|gh 20 XA
1,000, 000 *200hax50% 100,000
SHEsE 245 HZH AE
40,000 £ *4,000& *50% 80,000
O (EsIHSIIA XNE ALY
5,000,000 *20CH*50% 50,000
SIIZHIZ XA (AIHI FIH2)
270,000 1,500 405,000
B sHESEH(ER) 200,140 242,370 A42,230
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A R0 A Dt
B =0 A Ust
el MEdsgsd EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 59,480
Al 140,660
201 LBH2AH| 1,216 1,216 0
& 364
Al 852
02 3324l 1,216 1,216 0
Ozlgtd RII=sd 4 XA 1,216
& 364
Al 852
202 0441 1,434 1,624 A190
= 436
Al 998
01 =2LHO4 ] 1,434 1,624 A190
Ozled RIlsg 4 NIAS 1,434
T 436
Al 998
301 LPENZ 197,490 239,530 A42,040
& 58,680
Al 138,810
14 J|EtE A2 197,490 239,530 A42,040
OFsd=s42 213HIE NJAAY 104,120
& 30,670
Al 73,450
Ozled RIlsg s4 NFAL 93,370
T 28,010
Al 65,360
ASESMERS(EX) 211,200 176,660 34,540
& 62,400
Al 148,800
307 212+01™ 211,200 176,660 34,540
T 62,400
Al 148,800
02 QIZHBAAIEER 211,200 176,660 34,540
OFsE =42 2SaH| 0HHE X 211,200
= 62,400
Al 148,800
GAP OtM N 2AXJA(EX) 51,090 55,000 23,910
= 25,545
= 7,664
Al 17,881
201 L2 AY| 11,090 15,000 23,910
= 5,545
T 1,664

>
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2A:

e
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OnEA=Y MY RIIFHR N
300& *2,000, 000X *100% 600,000
eZalete s A& 41,520 4,260 37,260
S 12,456
Al 29,064
402 2I2F X201 & 41,520 4,260 37,260
== 12,456
Al 29,064
02 QI EASEX(0IETHR) 41,520 4,260 37,260
Ostdzlated st XI& 41,520
< 12,456
Al 29,064
GAP & AHHI X1 9,000 10,000 A1,000
= 4,500
Al 4,500
301 EtE NS 9,000 10,000 21,000
=S 4,500
Al 4,500
14 0Bt 2as 9,000 10,000 21,000
OGAP 215 M AHHI XI& 9,000
< 4,500
Al 4,500
LS ZSCHASE XIZAI (HEAIY) 220,800 42,400 178,400
= 138,000
Al 82,800
402 2I2FX+=01 & 220,800 42,400 178,400
= 138,000
Al 82,800
02 QI XHE AL E R (01X THE) 220,800 42,400 178,400
Ozlgtdstts S30UE SEAE 220,800
s 138,000
Al 82,800
detdsg JlsdE 2EsSAY 11,040 10,560 480
= 3,312
Al 7,728
307 elztol & 11,040 10,560 480
= 3,312
Al 7,728
02 2IZHBYAIAE & 11,040 10,560 480
Ozgd3=sg JI=8: 2=AY
10,0002 *1,3805+80% 11,040
=S 3,312
Al 7,728




SA R0
B =0 A Ust
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
detd 3 2sF |54 NIAL 21,600 0 21,600
= 6,480
Al 156,120
307 el2to| & 21,600 0 21,600
= 6,480
Al 15,120
02 QIZtEHAEE X 21,600 0 21,600
OxletE sld=s7F sdAd 21,600
s 6.480
Al 15,120
HIE JtAetE XA 1,480,710 0 1,480,710
= 888,426
=S 177,685
Al 414,59
307 21201 & 1,480,710 0 1,480,710
= 888,426
= 177,685
Al 414,599
02 QIZtEHAEE X 1,480,710 0 1,480,710
Oblz Aty X3AA 1,480,710
= 888,426
= 177,685
Al 414,59
W= EE 2,972,139 2,663,216 308,923
< 1,246,586
Al 1,725,553
ME=EEPNEC 2,972,139 2,663,216 308,923
= 1,246,586
Al 1,725,553
suga X (EX) 2,657,828 2,483,336 174,492
= 1,246,586
Al 1,411,242
307 gl2to| & 17,663 16,088 1,575
=S 5,299
Al 12,364
02 QB AANEER 17,663 16,088 1,575
Osas stte #8XE 10,136
& 3,041
Al 7,095
Ozlatzd oelol SaXd 7,527
= 2,258
Al 5,269
308 AtAIEHMSOIE 2,640,165 2,467,248 172,917
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oF
uJ
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KIO

Hlw

172,917

5,341
1,520
1,520
3,821
3,821

100,000
100,000
100,000
56,000
56,000
56,000
A5,320
25,320
25,320
A120
A120

MEE
Ofl &k2h

2,467,248

82,970
1,260
1,260

26,600

26,600
55,110

55,110

20,000
20,000
20,000
50,000
50,000
50,000
84,992
84,992
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40,912
40,912

ol &rey

iy

1,241,287
1,398,878

2,640,165

Al

369, 121

H

173,699
195,422

2,271,044

Al

Iy

1,260
1,260
1,260
28,120
28,120
28,120
58,931
58,931

1,067,588
1,203,456
88,311

Al

58,931
120,000
120,000
120,000

20,000
100,000
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106,000
106,000
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01 AFS2t2ltl

307 212t01™
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0
no

JI=23Hl
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SA A0
M HZYRAZHI(A0AG )
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osi8%e| L] 60,0002 *116& 6,960
202 04l 34,680 39,480 /4,800
01 =LHOHI 25,080 25,080 0
OIS HRFA 0] 25,080
02 A0 9,600 14,400 24,800
Odl2de] Kb
200,000 ~4H 122 9,600
203 HR=&H] 4,200 4,200
M EA2ER=AH 4,200 4,200
OsA2gREY 4,200
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